EARAZROREIERT — 2 N—XBISY —F 2021558158 (+) 2@EEH5H

m 3m—2 5% 3% ESRE R
[A&4£] 1 7% :500,000 ™ ~ 23#&:175,000  ~ 3 #&:100,000 @ . 4 3#&:75,000 @ .~ 5 7 :50,000
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
o F——— 49, —9-0- 3| — BaxH (5
118lg|Fr>hiN—F i3 540 1(4_9)6 rre2 4.3 6 :1_229) E%‘
LibhwHI— K B:ELTT> El= ik et
i AN # 3 | BEE—H 1:49.6 1-1-1-1 |41.4| — | 2 | 428 |HAEB) (BH)
2077 | NF/ NI = ] 54.0 (7€) (-6) | BFHE
R8T BiLA XA T NG — =3 TIT— L
75 t 3 | FEER 1:50.2 3-3-3-3 |41.8| — 3 420 |HEEIEX (SH)
3|55/ 77>IT—2R g 56.0 3) (+6) ﬁi;‘%z
LNnN—E>Tv— BTN-VTTAX fAx &
j 2 H o3 | BAEX 1:51.6 7-8-6-6 |42.7| — 5 456 | REA (&)
] 3| F—k—7 5.0 & Gy |
RO-TRA AL BEILAIY—F AREG2—T7—L
. . . HRERF :51. ~5-5- . — =iE— (EH)
5 1)1 Eox—Fy K it 3 iy (11 511/29) 6-5-5-4 | 43.3 4 :1_227) i#}k%—
RWN=—5—=Yy T B:T7714TRX%— HE77—»4L
N AN i R =255 :52. ~7-7- . = HEEX (SH)
6 4| RE> RISL 21— >3 it 1(512)1 8-7-7-7 | 43.3 1 (4_438) IEEBE%
L—=FHIS59r BV ITIF =EicEae
Voo — 88 A BB : ~6-8- — HBE= (35
7lglg| 71 —>xE271 i 3 R 1.(57?3.6 5-6-8-8 | 44.5 7 <4+324) =
.- 790> B/—-TNTaH-T Il EE
o s - BRER :54. -4-4- . - 2iEE— ()
8 6| ANV YT T it 3 BAT 1(5;1)5 4-4-4-5 | 45.9 8 (3_715) EEIEF&
R:T—IKRI-ZX B:TN—TFTF5147 KRB
- o= v it 3 BIFFE I — - — — - — | #MNEE ()
*x 2| TAANRZ Y 7 * {54.0 (F3H) (—) |LMEFS
Rib—tr5— B:747714774 alllkie]
® I—F—&EBIERL
|S=7r= 7,8,5,6,9,1,3,4
2ol=5"= 7,8,5,6,1,9,4,3
§T=5r= 7,8,5,6,1,3,4,9
40—F— 7,8,5,1,6,3,4,9
[ RN
BB 8 4,520M | | 71 K 7-8 1,140 | | # = 7-8 1,450/ | | 3:=4& 5-7-8 3,880M
# B 8 450M 5-8 1,190H B E 7-8 4,800 EE 8-7-5 71,810
7 110 5-7 240M B H 8-7 24,550
5 110

ARICOVWTRDTEEERROODE. TR LIV,



